Bridge at the Lunatic Fringe --  Number   22 – 

Quick Trick Responses to 2C
A remarkable hand with 5 story endings
Here’s another bidding gadget… an alternative to Control responses to 2C.  Instead of step responses to 2C (A=2, K=1), respond showing Quick Tricks.  Quick Tricks are a very old method of hand evaluation, popularized by Ely Culberson.  QTs are calculated as follows, based on combinations of honors in each suit:


AK = 2


AQ = 1 ½   

A = 1


KQ = 1


K = ½ 

Responses to 2C (without interference) then are as follows:


2D (1st step)  zero or ½ QT


2H (2nd step) 1 QT


2S (3rd step) 1 ½  QT


Etc.

You also need an understanding about how to handle interference.  A good method, applicable to all conventions involving step responses, is to play a double or redouble as the 1st step, pass as the 2nd step, and bids up the line the 3rd step and higher.

This method can sometimes help to identify a critical queen, especially when coupled with a subsequent Ace ask.

In the remarkable hand that follows, the professor held:

( AKQJT52
(6
(A63
(A7

In first seat, he opened 2(, and LHO bid 2(.  His partner, Warren then bid 2(, showing 1 ½ QT.  Coincidentally this was the same bid that he would have made without the interference.
There were several possibilities for the 1 ½ QT, offering different chances for making a small slam in spades:


KQ in one minor, K alone in the other…   slam a virtually certainty.


Three Kings or K of hearts and a minor suit KQ…  slam a virtual certainty with the anticipated heart lead.


AQ of hearts;  or A of hearts and a minor suit King, or KQ of hearts and a minor suit King…  slam not assured;  need some other help.

Note that responding in controls rather than Quick Tricks, the response would show either 2 or 3 controls.  After a 2-control response, slam would be much more doubtful, since that response might be made with only an unsupported Ace, or two unsupported Kings.
However, even with the “wrong” 1 ½ QT, partner could easily have a holding that would provide a play for the slam, i.e. an isolated minor suit Queen, a useful Jack, or a minor suit that could be established for an extra trick by virtue of length.

With this in mind, the professor took an immediate shot at the spade slam, bidding 6( without further adieu.

Warren then became declarer, facing the following:

Dummy:



( AKQJT52



( 6



( A63



( A7

 
Declarer (Warren)


( 984



( A843


( K75


( Q32


Minna as West led the (J, won by the A.  Warren then immediately led a 2nd heart, ruffed in dummy, as Minna followed with the 9.  This was a necessary maneuver, so that only East (Cecil Horne) could guard hearts in the end game.  Warren then played three rounds of trumps, West having all three of the missing trumps.
Warren now made the key play of a low club from dummy toward the Queen, hoping that the King was with East.  In many cases, it is right to cash the Ace first, but on this hand that would be wrong, as it would allow the defense to play a third round of clubs, forcing dummy to ruff, and killing the club threat.  In any event, the (Q lost to the King, and now it is time to show all four hands:
North Dummy (Professor):



( AKQJT52



( 6



( A63



( A7
West (Minna)


East (Cecil)


( 763



( Void


( J9



( KQT752


( 842



( QJT9


( KJ965


( T84

 
South Declarer (Warren):



( 984



( A843


( K75


( Q32


Ending Number 1
In with the (K, Minna returned a club, to dummy’s Ace.  On the first three rounds of spades, Cecil as East had discarded two hearts and a club.  Now in with the (A, Warren ran off spade winners from dummy, producing the following four card ending:


N  (2   (A63
E   (842  (J



W  (K   (JT9


S   (8  (K7  (3
On the lead of the last spade from dummy, a double squeeze took effect.  West could not part with the (K, and so pitched a diamond.  Now South could let go his (8, and East was squeezed in diamonds and clubs.  She could not let go the (J, lest the (3 be good, so she too pitched a diamond.  Now the (K, A and 6 took the last three tricks.  All congratulated Warren on pulling off the double squeeze, although Cecil wondered what might have happened had he kept the club guard.
Ending Number 2
In with the (K, Minna returned a club, to dummy’s Ace.  On the first three rounds of spades, Cecil (East) had discarded three hearts.  This left Cecil with one heart to declarer’s two, providing the possibility that declarer could ruff out one heart and setting up his other as a winner.  However, Cecil knew from the bidding that Warren would not then have an entry to get back to the good heart, so these heart discards were safe.
As Warren began his run of the trumps, Cecil went into the tank, and then discarded first the (Q and then the (9, stubbornly retaining his (T.  Minna was a bit mystified by these discards, but vaguely realized that it might be important to hold on to the guarded (8 (exactly Cecil’s intention in discarding this way).  Finally, it came down to the following four card ending:
N  (2   (A63

E   (842  (J



W  (K   (JT   (T



S   (8  (K7  (3

On the lead of the last trump, Cecil discarded the (T.  Warren could now let go of his (8, and Minna cooperated in this defense by discarding the (J.  The lead back to the (K extracted Cecil’s final diamond ((J).  Now on the lead of the (7, Minna played low, and Warren, realizing a missed opportunity, could not let the seven ride, for then he would be stuck in hand with the losing (3;  so he overtook the (7 with the (A, and lost the last trick to the (8.  All at the table reluctantly congratulated the gloating Cecil for his imaginative defense.
Ending Number 3

Exactly like Ending Number 2, except that Warren had brilliantly unblocked the (7, and instead of (K7 came down to (K5 in the end position.  Now on the lead of the (5, Warren exultingly finessed against the (8, winning the last two tricks in dummy with the (6 and (A.  

Everyone congratulated Warren on pulling off this unusual ending, finessing the (6, although Cecil was rather miffed that someone else was getting all the credit for brilliance.
Ending Number 4
The East-West hands were actually slightly different from what I have shown.  The first three endings were shown just to set up the final two endings.  Cecil as East actually had 5 diamonds… (QJT98, and the (T was with West.
The play went exactly as in Ending Number 3, with Warren unblocking the (7, and Cecil deceptively playing his diamonds Q, 9, T, J.  Now when Warren took the diamond finesse at the end, he was crestfallen as Cecil triumphantly won the last two tricks with the (8 and (K.  Everyone congratulated Cecil on his fine deceptive defense;  barely tolerating Cecil’s obnoxious gloating.
Ending Number 5

As with Ending Number 4, Cecil started with 5 diamonds, and Minna had the (T.  However, in this ending Warren had carelessly failed to unblock the (7.  Reading the situation to be the same as Endings 2 and 3, Warren was kicking himself for his failure to unblock.  But as in Ending 2, he had no choice in the end game but to overtake the (7 with the (A.  This time of course the (8 came down, and so the (6 was good for the final trick.
Minna praised Warren for having executed the simple squeeze against Cecil.  Warren sheepishly accepted this praise, knowing full well that he had been forced into the winning line by his own carelessness.  Cecil knew that as well, and was apoplectic that his brilliantly conceived deceptive carding had been foiled due to declarer’s ineptness.  It was just one more example of Cecil’s claim to infamy:  making the brilliant play that somehow fails to achieve its objective.

The professor as dummy meanwhile bemusedly took in the whole scene, contemplating what to advise this author on how to fit all the possibilities of this hand into a single Kibitzer article.
A final note
The astute reader may have realized that all of these interesting endings could be broken up if Minna had returned a diamond when she was in with the (K.  This was a rather difficult play, as it could be giving declarer a free diamond finesse, perhaps eliminating a guess.  

And Cecil could not safely signal in diamonds (by discarding the (Q) on an early round of trumps.  This would have been safe as the cards lie, but could have been disastrous if declarer had started with 4 (or more) diamonds to the King.
